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PART -1I1I
senflLClumplullwed / COMPUTER SCIENCE 6003781

(Vocational Component under General Stream)
(0D wHYD Eidle eyl / Tamil & English Versions)

Cryid : 3 waenfl | [Qwrss wHQuaraer : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
Lolejer i (1) eimasg alamssenn sflurs udleurdl o arensT 6T 6TLIS e e
sflurisgé Gsrareralb. wiFsliudeler @ammnudmiidar, MM
' sansrefluurerflib o Leangwrss Qsfelsseyib.

2) Bob deg spliy ewuleamer w HGW T(PGIUSHEGL LLaT(HSS

Couam®id. UL fuseT eureausHE@® GLadled LweTLHESa)LD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

GOy : () uEH-1 & o drer S@aTSE (LDDS eflearéser) oflenmss emé s
(1 s 75 aueny) saflCw auprusiu Herer OMR eflenl_ggmafa wL GG
eilenweflés GeuartGd . (OMR el gsrefer o arer SiMleyenFenis
STEHTS )

(i) eflenTsrer uagl LGS ppmeUded STLILIL HETET (dash) @HIUSH erhs
eramremilGensuiler 2 ararCosm snHCsHu OMR dilonL_ggreflcr [wm] (1)
Sidrag) (] 2) Sz (4) icoc3) [ e wm] (4) cTeitd
&b HB Quendlared Blpedl i Caueir(ib.

(ili) eflenm erawrser 1 (PG> 75 euany o drer larmssenéE ol weallés
@HEBELLLL Corib s 75 B kiser ay@ib.

(V) uEd I LHpL uEH HI-& 2 drar damésErse (76 Wpse 110 aueny)
pgeenw eflenlgarafler aflenwaflss CouairHLb.

Note : ()  Candidates should answer all the questions in PART - | (Objective type) (1 to 75)
in the separate OMR Answer Sheet supplied. (Refer instructions given in the

OMR Answer Sheet).
(i) The number of the sign ‘wm * (dash) as found in the right - hand top corner of the

Question Paper (i.. [ma] (1) or [mm m] (2) or [sm w wm] (3) or [mm e wem ] (4)
should be shaded in the OMR Answer Sheet using HB Pencil.

(i) Time allotted for answering question numbers 1 to 75 is first 75 minutes.

(iv) PARTS-II and III questions (76 to 110) should be answered in the main
answer-book.
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u@S -1/ PART -1

Sas sfures sdevLsows Coimbos®s5s GHUIGS 75x1=75

Choose the correct answer :

1. C++ - @ TEHSOET GUMHSHUITET LOL_&(@&erT 2 GTemer ?

(A) 5 (B) 4 © 3 (D) 6

How many kinds of loops in C+ + ? .
(A) 5 B 4 © 3 (D) 6

2. Ci+ - é LLeTT euarunsSs 2wsEs6T Geueurm) Si@W&sUILIHE e :

(A) e@TUNSGD A&SEET (B) srananine A &HSET
(C) Qewpsnm (D) <l

In C+ + the compiler generated constructor is called :

(A) Defined constructor (B) Default constructor
(C) Function (D) Destructor

3. C++ - @ udu alfl Sewss LB AU euflens erg ?
(A) \o (B) \n (€ \t (D) \a

In C+ + which escape sequence is used to represent new line ?
-

(A) \o = (B) \n © \t (D) \a

4. yHu QaEGpSEmaT o (HEUTEGED QswRupern eramal ?
(A) Qewnsam (B) e @p@uUIdurssd
(C) wryflow (D) UOIHEITESID
Which process creates new classes ?

(A) Function (B) Encapsulation
(C) Inheritance (D) Polymorphism
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GHUP6ug s LTuldars gmsluo ergl ?
(A) public (B) protected (C) private (D) void

Which access specifier is optional in a class body ?

(A) public (B) protected (C) private (D) void
2D 2 erurLd Quigow Gup ahg QuTssrasmas Caia Glewuw
Geuawr(hd ?

(A) Ctrl+ A (B) Alt+P (C) Cul+P T (D) Alt+A

Which command is used to get print dialog box ?
(A) Ctul+A (B) Alt+P (C) Ctl+P (D) Alt+A

aps Caitay @m Aodldmps LHEDT® Hoas@ Ws aflepreurs Gede
vwerU(hEmg ?

(A) Navigator (B) Title Bar

(C) Tool Bar (D) Handouts

Which window allows us to quickly jump from one slide to other ?
(A) Navigator (B) Title Bar
(C) Tool Bar (D) Handouts

GOLTTETO&EHD erar QS TLTEmeT 2 (HeUTES Thg HLLener Lweru® &g ?

(A) File (B) Fill (C) Copy (D) Format

Which command is used to generate a series in Worksheet ?
(A) File (B) Fill (C) Copy (D) Format

@Qrean® cuesuwiren aulgsLlgser (Filters) :

(A) Auto, Static (B) Auto, Standard
(C) Default, Static (D) Auto, Query
The two types of filters namely :
(A) Auto, Static (B) Auto, Standard
(C) Default, Static - (D) Auto, Query
- | [ Higlas/Turn over
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10.

11.

12.

13.

4
Spssa_aupmear ahs urssraen Hafls CGelg RO yHw Cererene evLTT
piev el e Gedsemd ?

(A) Insert (B) Add (C) Change (D) Ignore

The button clicked to add a word to the dictionary is :
(A) Insert (B) Add (C) Change (D) Ignore

Static 576 2 DUILISEHEE, 2ibHS QansEpaile @pg,&) QummeT 2 (HeurssLUHID
Gurgy, sen QFTL&S WL eremer ? -

(A) Zero (B) Onme (C) Two (D) Three

Static member variable is initialized to which value when the first object of its class is
created ?

(A) Zero (B) One (C) Two (D) Three

eoLrireySav erlLféd @ HDnarsEer pearypwrs Qede LwWeTUHLD
gmefl : :

(A) Shift + Tab (B) Alt + Tab (C) Tab (D) Ctrl + Tab

In StarOffice Writer to move forward through the cells press :
(A) Shift + Tab (B) Alt+ Tab (C) Tab (D) Ctrl + Tab

g,Ll_é&;qu'_@ Qaréd seum erampred lg&ECHTYL(H srar9&@hn QrafCar(h
GUGHITEWTLD :

(A) u&ams (B) &aeuliy

(C) bEpEeT (D) &rbuw®

Spelling Mistakes are underlined in :

(A) Green color (B) Red color
(C) Yellow color (D) Grey color
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16.

17.
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HreUSSET i _L euaenTudle uevas safigsanamuwGur® GN&GDL Yo gl ?.
(A) @rawLmd Hlene HneCared  (B) wsemmn FneyGare”

©) uday ' - (D) Gsmuy

Which one of the following uniquely identifies a record in a database table ?

(A) Secondary Key (B) Primary Key
(C) Record (D) File

T(P&s euamsilen et @euaurm) larésILGEDS -

() ueraflseficd B) SEGREHD
(C) QsemgiSiL e (D) erpddle
Gize of the Font is measured in :

(A) points (B) inches

(C) centimetre (D) character

ahs GRS gmas derar® @0 char siefler Q@méuad @Huas
Geuant(HLD?

(A) \r’ (B) “\t © o (D) \r
Which character terminates the character array ?

(A) \n' _® A\ © o (D) “\r

b

g GHUEGLL auTgs@swirart Cramaussrs AsroaGudl Sigplumuile
SewHs GCemail) Lditey LWLD eTe auerupEsLILOEDS ?

(A) SepuLsedl W B) srey GemeaTenlo
(C) WBar - SiFeTE@TEMLO (D) wHSGE <peuanTGl UL

Which of the following is defined as a Telephone based shared services center for specific
customer activities ?

(A) Call Center " (B) Data Management
(C) e-Governance A (D) Medical Transcription

[ Slmis/ Turn over
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18.

19.

20.

21.

6

Gn&Ss Hmbul Qumb eeflsard, passrld CuraGeu @Qu@m@
Caremmid wpevm 6T)?

(A) seawewtlser gpellw (B) @l @Gmn&sh
Q) Gummer gpeiw (D) @uuler Gn&sw

Which technique retains the exact image throughout the compression ?
(A) Cell based (B) Lossy compression
(C) Object based (D) Lossless compression

eThs wHlmuubd Smufueyiiurg Qewnan wrg ?
(A) inline (B) Static (C) Void (D) cout

Which function returns no value ?

(A) inline (B) Static (C) Void (D) cou.t

@M wrhlller wopbg HLsEL umrcuamaamu Geuaflds G&memH om0
Cewup@Em wrg ?
(A) = (B) # © < (D)

Which operator reveals the hidden scope of variable ?

(a) = B) # © < (D)

R SLLaumaruie gaGprdirarny Qgrirymiw greyseaflen Quorés
QTG :

(A) Casriy (B) udley (C) sseu® (D) yeod

The entire collection of related data items in one table is :

(A) File (B) Record (C) Information (D) Field




22.

23

24.

25.

7

G QUHEISTELDDIGT GTEl SEeUD GFTPlad HILULD grihs Ceaneuy e ?
(A) srey Goerared (B) eamawss GCeamouser

(C) eliLgedl WhISET (D) GULTTHTEE

Which of the following services is not IT Enabled ?
(A) Data Management (B) Website Services
(C) Call Centers (D) StarCalc

Slevey el e ey IHH L HOQISET @ LsssH0 aubor Gedi 2 ga|lb
GUlg GULD :

(A) Outline (B) Slide Sorter (C) Normal (D) Master

Which view allows to view miniature image of all the slides ?

(A) Outline (B) Slide Sorter (C) Normal (D) Master

BT SENETILLD QewpsmmEmarubd @ GlLmmer uTDEEeT Ymandgl
meus@L GFwe HILUD gl ?
(A) UOHEITESD (B) wryflowd

(C) Qeweur®sar (D) 2 e@nEurSHurssd

By which mechanism the data and functions are bound together within a object
definition ?

(A) Polymorphism (B) Inheritance
(C) Operations (D) Encapsulation

MIDI Ligeutd & (heurdsiul L per( :
(A) 1990 (B) 1985 (C) 1995 (D) 1982

MIDI Format was developed in :
(A) 1990 (B) 1985 (C) 1995 (D) 1982

3381
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26.

27.

28.

29.

8

paste special 2 enurL e QUL iquile erhs GQeneawriienl Csirey Glm.ugu QI 2y
peuanrggler Cale cell LweTUTenL. Qa@meETd ?

(A) DDT Link (B) TDD Link (C) Bit Map (D) DDE Link

In StarOffice Calc which option is selected on the paste special d1a10g box to insert Calc
range into a.Text document ?

(A) DDT Link (B) TDD Link (C) Bit Map (D) DDE Link

Shockwave i_llq_ra.lé‘;ﬁciﬁ f;Léﬂ x

(A) .shw (B) .swf (©) .wmf (D) .snd

Shockwave format have the extension :

(A) .shw (B) .swf (€ .wmf (D) .snd

ahg dewn@d smelssliul L Q&G WEEGEL, DglumL @Qarsa@(PdaELD
@eLwler LweTLBHEDG ?

(A) 7 B) % (©) # (D)

Which constructor is used between derived class name and base class name ?

(A) ?- ®) $ © # (D)
C++ - @ 2 U Qewupsamsmer @eUeUTn HDLPEHTLD
aullppermaer (B) Q&G (C) Qumgmer (D) wrhlser

In C+ + member functions are called as :

(A) Methods (B) Class: - . (C) Object (D) Variable
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30. QevenrugSlen cuflCw sevell HHH UL L RisEHb FTETHIS DS EHLD Glumd @mﬁ)uﬁ]s&r

31,

32.

33.

Quwir eretrer ?
(A) Wler - eurudl Gganeu (B) e - sewL& Qeeay
(C) Wlerm - sHH (D) Gsrene Ww(HSIEULD

Which enables online educational programs leading to degrees and certification ?
(A) e-banking (B) e-shopping

(C) e-learning (D) tele-medicine

DL euenanéd Ceweiuiler auiésepeld memr HweruBb griy wrg ?

(A) SQRT () (B) SQR () (©) SRT() (D) SQT ()

Which of the following function is used to find the square root of a number in
StarCalc ?

(A) SQRT () (B) SQR () (C) SRT () (D) SQT ()

C++ @ grey weply sTdHuiwreug @ser ppaLb :
(A) QasEw eglysar (B) QesEw
(C) uHUTESESLD (D) sre| S(HeuLT&EsDd

In C+ + data hiding is achieved through :
(A) Class member (B) Class
(C) Polymorphism (D) Data Abstraction

Ths Dewunsmp, AsTRESLLLL @ram® Srapb F0b aarpTed ‘0° Greum
wgllienu Fmw ?

(A) stremp() (B) strepy() (C) strlen() (D) strcat()

Which function returns 0, if the strings are equal ?
(A) stremp() (B) strepy() (C) strlen() (D) strcat()

. [ HmLys/Turn over
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34.

35.

36.

37.

38.

10

@Gy sivag CeueuCoum srelssearmisailen, QD O GemisE CopHuL_ L
2L amansallel(phg srejsamer gearn Carsgn Gewpuri e Qeusimm
S P&EEComid.

(A) Cairgge (Merging) B) euflengwrésid (Sorting)

©) (35,!__61). (Searching) (D) eugasL L e (Filtering)

The process of joining data from two or more tables of the same or different database is
called :

(A) Merging (B) Sorting
(C) Searching (D) Filtering

678 (o e L euenend GlFwiedl ?
(A) eflélgrevs (Visible Calculator) (B) eflgeudd Gl (Visual basic)

(C) eflenGLmev (Windows) (D) CGeorlLew 1-2-3 (Lotus 1-2-3)
Which was the First Electronic Spreadsheet ?

(A) Visible Calculator (B) Visual basic

(C) Windows (D) Lotus 1-2-3

em wrhlufer wHlemu Aurmeaie GmadH meausEw CewpEdl g ?
(A) << ®) >> (@ <<= (D) >>=
Which of the following directs the contents of the variable to the object ?

(A) << (B) >> (C) <<= (D) >>=

eoL iy ien L Qpeuamrhsaie) Lss aTaRTGmET LGS The UL g6l
vwetu(hss GCeuer(Hitd ?
(A) File (B) View (C) Insert (D) Format

Which one of the following Menu is used to insert page number ?
(A) File (B) View (C) Insert (D) Format

Cout << 5 + 10 ; - &1 QeuafliLmr(® :

(A) 5+10 (B) 510 (© 15 (D) 50

Cout << 5 + 10 ; will display the resultas :

(A) 5+10 (B) 510 (C)ilh (D) 50
»
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40.

41.

42.

43.

11

C+ + Gomuie 2 arer DjgliLienL FapHDIGET 2 (HEUTESL u@chu@g’,g,ﬁu@sug,]:

(A) SAply Qerheer (B) &miry&er

(C) edlevenevser (D) Qewn@dlser
Basic Statement in C+ + are constituted using :

(A) Keywords (B) Functions

(C) Tokens (D) Operators

e @m&@@@ﬂm éIIEﬁ]DLS]EGﬂG%T TR SENS
@A) 2 B) 5 © 1 (D) 3

Number of destructors allowed in a class is :
(A) 2 (B) 5 € 1 (D) 3

i Lauemeans Qeweluler Cadleow erhs auflansuiien g7 Geuarr(Hib?
(A) DD/MM/YY (B) MM/DD/YY
(C) YY/DD/MM (D) YY/MM/DD

StarOffice Calc allows you to store dates in which format ?

(A) DD/MM/YY (B) MM/DD/YY

(C) YY/DD/MM (D) YY/MM/DD

<SP Quwér warQerLrs Qasreamy hE@GWw GO g ?

(A) % (B) ~ © & (D) #

Which symbol is used to prefix destructor name ?

(A) % (B) ~ © & (D) #
a8 @ Qumrmer Crrée Hreorss Wwapamws sribg Cwmgl ?

(A) C (B) StarOffice (C) BASIC (D) C++

Which one of the following is the Object Oriented Program Language ?
(A) C (B) StarOffice (C) BASIC (D) C++

3381
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44,

45.

46.

47.

12

C++ @Qrewr(h) FriisemeT @ananTés 6Ths GlFWnammdlene LweLhgs CeuaT(id ?

(A) strcat() (B) concat() (C) stremp() (D) main()

In C++ which function is used to concatenate string ?

(A) strcat() (B) concat() (C) stremp() (D) main()

EPESHTEMID THS e R L eumennuiley 2 6rer Freysenar afleslu@®ss
2 ge|dlmg ?

(A) euflewswrsse (B) CsLed

(©) eleraue (D) <idsams

Which method is used to arrange data in a table in some order ?
(A) Sorting (B) Searching
(C) Querying (D) Reporting

C++ @ arggaan wrilseaflen curQuoamaser 2 drerg ?
A) Gran® (B) epemmy ©) @bsl (D) prene

How many types of scope of variables are there in C+ + ?

(A) Two (B) Three (C) Five (D) Four

oo

R0 Ppolansmg BB HplusneE LweTLHLD SU_Laner eTgl ?
(A) File - Open (B) File —Save
(C) File —Close (D) File —New

Which command is used to open an already existing document ?

(A) File —Open (B) File —Save
(C) File — Close (D) File — New
»
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48. evLnit srsdler o(m HeTammpawL Feflds (e Carargrs wrHn eTHhs
@ vweruHémg ?
(a) * (B) # © $ (D) +

A cell address can be made absolute by using which sign in front of row and column
names ?

(A) * (B) # © 3 g (D) +

e 49. der eu@heuemeuDMET BT lg.6dr QurmenTgTrsHen WEHL bsd | ks

eudlliLig) erg ?
(A) sewflef (B) eumdl
(C) sevadl (D) pe aurpey

Which became a key component in the national economy ?
(A) Computer (B) Bank
(C) Education (D) Healthcare

50. Hequier @ udeden Lemkismer B Qe QaueliGur® s’ Hougy erg) ?
(A)  eflemeucd (B) sreysgend (© agsiyg (D) ugeud

Which displays the fields of a record in a well spaced out manner ?
(A) Query (B) database (C) filtering (D) form

51.  senflLCuTfl el @ ephiGweD crerLg eTgl ?
(A) uLFLSLD - (B) safipui seaflaf

©) 3L euemeanréEQawad) (D) sreyEGlswuerssid

Which is a computer based presentation technique ?
(A) Multimedia (B) Personal computer
(C) Spreadsheet (D) Data processing

L
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52.

53.

54.

55.

14
gl 9w eulg eurisafley o e sEauDSMETS HenflIQLITHlude MSHUITeTeUSHH e
seauOMU LrHHlumLOILSTED ?
(A)  Blér - eyreremrento (B)  se@luQurdls STUTEHSESLD
Q) Sepuysed ewwiisdr (D) euwawss Csemeusdr

Which refers to the conversion of non-digital material to digital form ?
(A) e-Governance - (B) .Digitization

(C) Call Centers (D) Web Services

C++ - @ aps Qeupshes Q® Qewgymliysser Caemeu ?

(A) @@mwid (B) e@muwibd ©) wsaflsi L (D) (PLOLOLD
In C+ + which operator Operates on two operands ?

(A) Binary (B) Unary (C) Address (D) Ternary
Bens@pefen 2 Lpu@denw SDLSSLILIWLIETL (LD DADLULYEGH 6Tg) ?
(A) 1 B () © {1 D) <>
Which of the following enclose body of the class ?

(A) ] B) () © {} D) <>
LT el Lfd, Haguler o erer eorow ELCorsd o maré Qe
Lweru@w gred ergy ?

(A) Page Up (B) Page Down (C) Home (D) End
Which key is used to move down on screen in the document ?

(A) Page Up (B) Page Down (C) Home (D) End
—_— — ————




15 3381

56. @@ BamaTapuildimbg Qe mETETmD auy QAsriréflurs o drer
D@Tamenpaaer, L euamens Cariided ereueumm 2D WP&ES5ILNE DS ?

(4) psauf B) urdy

(C) mewewTenm (D) =imwellL b
A continuous group of cells in a Worksheet is called :

(A) Cell address (B) Range

(C) Cell (D) Location

57. @0r m <l L_aumaremwds Qsremr STe|SSETD 6Tg ?
(A) ugbleve Freysserid (B) 2 paflee sressertd
©) phopsGsriy sregsand (D) euema SIeySSaTLD
The database that contains a single data table is a :

(A) Hierarchical database (B) Relational database
(C) Flat-File database (D) Network database

58. oL yiSev eyl i i eueanuler auflensuyib, Ap@euflensuybd &hdéEin
Q\_Lb:
(A) mewmemTenm (B) eauflens (C) sa@ibd (D) Gp@euflens

In a Table in StarOffice Writer the intersection of a row and a column is called a :
(A) Cell (B) Row (C) Width (D) Column

59. stylist wPMD formatting Hewrerw Qup eHs srefemw Cairey Geuwiw
Couewr(Hid ? =
(A) F5 (B) F10 (C) F7 (D) F11

Which function key is used to open the stylist and formatting window ?
(A) F5 (B) F10 (© F7 (D) F11

60. efluflen &Gm G eriGurgih QarL i@ erar T ?

(A) 1 (B) 2 (€ 0 (D) 4

The array subscripts always start from :

(A) 1 (B) 2 € 0 (D) 4

. [ &lmLiys/Tum over
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61.

62.

63.

64.

16
@ Qensgw Qurmelar LweaTLT® WPyeEE aumb Curg @uésiiu@ey
Ths CEubaanm ? ¢
(A)  oiawfl (B) asLmeuu
(@) T WL (D) <58

Which function gets executed when a class goes out of scope ?
(A) Array (B) Structure
(C) Destructor (D) Constructor

C+ + - & cin upPlu siPleflliyser sriulBerer sealiy Carliy erg ?
(A) <conio.h> (B) <stdio.h>
(C) <iostream.h> (D) <string.h>

The declaration for the object cin in C+ + is available in which header file ?
(A) <conio.h> (B) <stdio.h> '
(C) <iostream.h> (D) <string.h>

@ rPl s Twwrs Gsmans Qaran®h Qsrrhgs CeuadHL :

(A) areimaar (B) eross © # (D) $

A variable must begin with an :

(A) Digit (B) Alphabet © # (D) $
CBT -eir eflfleurgsid :

(A) Computer Based Tutorials (B) Corporate Based Training
(C) Computer Based Training (D) Command Based Training

CBT stands for :
(A) Computer Based Tutorials (B) Corporate Based Training
(C) Computer Based Training (D) Command Based Training
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66.

67.

68.
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el @dsasuT_ L Qewp@h endern QewGoni9eEser Lweri QU TGS
srellenors @\més Ceuanmriq g GeonHs UL D TS ?

(A) Qran® (B) geny © epeny (D) mreng
The overloaded operator must have at least how many operand of user defined data

type ? - .
(A) Two (B) One (C) Three (D) Four

C++ @ Causors Qewou@dn, oyearmed s floaas @QLsms THSS 5
Qarerepd Qewpeay erg ?
(A) linein (B) inline (C) cinline (D) cin

In C+'+ which function executes faster but requires more memory space ?
(A) line in (B) inline (C) cinline (D) cin

ergl wryfwsHe o 6rer cuans id@e ?

(A) Single (B) Multiple
(C) Multiplex (D) Multilevel
Which of the following is not a type of Inheritance ?
(A) Single (B) Multiple
(€) Multiplex (D) Multilevel

THE TWhHSlums QuITgUTs eréver SADIUDSE 2, 6u e Gafl gy ib
Lweru(hgsULHEamer ?

(A) Fajita (B) Symbol

(C) Times New Roman (D) Wingdings

Which one of the following Font is suited for business document ?
(A) Fajita (B) Symbol

(C) Times New Roman (D) Wingdings

&7 feooym-ég Gaaumumesad a5y  CupGarar @
LwetuHssULBEmg)?

(A) <> B) [1] © {} 12 Wellif

Which of the following is used to enclose string constant ?

(A) <> (B) [] © {} (D) -1

[ SLiys/Turn over
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70.

71.

72.

73

74.

70
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Qend@peilen o miing Qeaungmn Smind igiurg Loélqu'craimrr ?
(A) double (B) object (C) integer (D) class
The return type of a member function cannot be of which data type ?

(A) double (B) object (C) integer (D) class

fogiemes e (heursse b, LFHLILTESD 2 Fayb QUIgeULD 6Tl ?
(A) Outline (B) Handouts (C) Normal (D) Notes

Which view allows you to create and edit slides ?
(A) Outline (B) Handouts (C) Normal (D) Notes

UL TT&TEE GavdsariiLiy aimiiurRedr Qs s Ceuammyw @b :
(A) + B) = © # (D) $

In StarCalc, the Formula begins with : :
(A) + @ = © # (D) $

SQL -er edlfleurssid :

(A) Stand Query Language (B)  Special Query Language
(C) Structured Query Language (D) Star Query Language

SQL stands for :

(A) Stand Query Language (B) Special Query Language
(C) Structured Query Language (D) Star Query Language
WBHSGleus QUWFLITEUSRTD erigeaman UgSlenesemend Qamer g ?
(A) 5 (B) 2 © 3 (D) 4
How many steps are involved in Medical Transcription ?

(A) 5 (B) 2 © 3 (D) 4

switch sLLenlieueil( GeuafiCu eurl LweaTLBL sapmy g ?
(A) continue (B) break (C) for (D) case

What statement is used to terminate every action block of switch statement ?
(A) continue (B) break (C) for (D) case
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u@3l-11 / PART - 11

aCs@ib Ymugl damsseErse e auflsaa eflen_wafl&eyid : 20x2=40

Answer any twenty questions of the following in one or Two sentences each :

TCseb Bren Quoamdummer shasule e s@n Gerh@swasar (PSS,

Write any four word processing packages.

@ eoyi L fld (StarWriter) ereleurmy @ WP it L auamertail Bé&@eumis ?

How will you delete entire table in StarWriter ?

Sleh AL euenemtd Qewiedl erettmmed eTetam ?

What is an electronic spreadsheet ?

SiLLaiemané Clswalufler LwemUrGadr .

Write the applications of spreadsheets.

sanilal aufl sseud CeuaTsssder LGS aGCa@ib Bredlanen er(pg)s.

Write any four advantages of computerized data processing.

QS L6 - afenyum.

Define filtering.

Q&S (LPE@DIITESED GTammTed eremar ?

What do you mean by sampling ?

2 (HEGDDSSED TGN 6Tee ?

What is meant by Warping ?

[ Hapliys/Turn over
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8leogl wrom wpevm (slide transition) eremmTed ereman ?

What is slide transition ?

flog wrpprsellar psdas Crrib erampre crere ?
What is Rehearse Timing ?

Gummer - euenwim.

What is an object ?

rdledlaer eremmed eresan ?

Define Constants.

QLwCumb Qewonseier oramaisams SlguuemLtled QswupaEdse
GreueUTm euansLIL(HGSemd ?

How are operators classified based on operand requirements ?

BSHedEsLLLL srefland eranmred eTemen ?

Define Derived data type.

lemraed oL E@GEemer BiepLOLILISHETET cllgluperpaemar erps)s.
(sive the rules for nested loops.
Quwwirer AT (h&sEREsTar elHpermaar eremar ?

What are the rules for actual parameters ?

@@ uflorer sjeflufer sl Laer eawiiy (syntax) @ er@psey. ¢
2 STIERTD FraLD.

Write the syntax of single dimensional array. Write an example.
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stremp() srmQer Liwer wirg ?

What is the use of stremp() function ?

$Te| wenmLiLy euenywimy:
Define data hidiné.

‘e ptiyE Qewheysaier leemaentoliLy” eremmmed ereires ?
What is meant by “Nesting of member function” ?

Clewmn @y venflillegly auerugy.

Define function overloading.

A &Sls6r alerumiLiuglen elldser LOMID LWIETSET Wirenay ?

What are the rules for constructor definition and usage ?

DI[HeU @)ends & (& CTGTMTE) GTemen ?
What is an Abstract class ?

e

THS ety Qzmflen BILUS sa&6T Q5 s1gmren wallsamisE saae Qgme
BLU ueesdr Qeemment Caenau ?

Bésdlre) -@dliLy 5(H.

Write a note on virus.

[ wiiys/Turn over



2381

101.

102.

103.

104.

105.

106.

22

L@&S\-111 / PART - TII

e darssaiid gCseib e Narss@nss e ererdnebd
oBSSmHSL LSS auflsEnsEer ellaL welsseb 7x5=35

Answer any seven questions of the following in five to ten sentence each :

R(h euasgle Cemeuu@b e ariu@deaw ereueurn CsibOs@LILITL ?

How would you select the required portion of text in a document ?

R peuemtid (PPeugId s s CaigGer, erpdgit Genperw ereuaury &
Qaweumdy ?

How will you carry out the spell check after the entire document is typed ?

StarCalc 6 2 @TeT GuigeUaLOLIL] euanaEeT LM allerdEs.

How to format the worksheet ?

StarCalc - & Gumrmer Gergged smeluulguiad Coramibd LiewnfsEhsmar
alemd@s.

Explain the various Icons available to Insert objects in a Worksheet of StarCalc.

BT6Y5 saTsSlen cuamsEmaT 66T Es.

Explain the classifications of database.

Yenenreorer if saperm eT(HSgIGaT _HLen eleTé&sons e (pg)s. (nested if )

Explain the general form of nested if statement with example.

»
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‘LY gped Siepssen” - 5G5S THSH&GEST (DL 6 eflemé 6.

Write a note on “call by value”. Give suitable example.

Cewp@n Lel WGemLE Qeieugparar eldupemsdr wreney ?

What are the rules to be followed while using operator overloading ?

Sp&seT C++ Hlyasler ST Uampamer Hmss orpsg)s.

Debug the errors in the following C++ program.

#include<iostream. h>
class A

int al;
pubTic:
int a2;
protect:
) int a3;

E]ass B;private a
int fun()

int bl;b2;b3;
bl=al;
b2=a2;
?3=a3;

5
;oid main[]

B obj();
obj.fun;
obj.b3=0:
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#include<iostream. h>
#include<conio.h>
class simple -

int a,b,sum;

stat1c 1nt count;

public:

¥o1d assign(int i,int j)

a=i;
b=j;
sum=a+b;
count4+;

goid display(Q)

cout<<"\nThe sum of two numbers
cout<<"\nCount "<<count;

int simple::count=0;
¥o1d main()

simple pl,p2, g
pl.assi n(10 0);
pl. d1sp ay(Q);

p2. HSST?n(ZO ,30);
p2.display();

p3. 3551?n(30 ,40) ;
§3 display(Q;

24

110. Gemauqpid C++ flyaflenr Qeuafull i evar erpg)s.
Write the output for the following C++ program.

"<<sum;

-00o0-




